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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language
No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

As Lydia marches to the café, Irene floats over to the new fiction. She loves nothing better than a
stack of fresh books on her nightstand. What an enriching way to start the new year. Irene spent
her New Year's Eve taking down all of her holiday decorations and packing them neatly away. She
left the boxes at the bottom of the attic stairs. Russ is due back late tomorrow night or early
Thursday morning, he said, and once he returns, he will be fully at her disposal. He left for a
“surprise” business trip two days after Christmas. The man has more surprise business trips than
anyone Irene has ever heard of and in this case, he was leaving Irene alone for New Year’s. They
had quarrelled about it the previous afternoon on the phone. Russ had said, “I'm fully devoted to
you, Irene, and | strive to see your point of view in every disagreement. But let’s recall who
encouraged whom to take this job. Let’s recall who said she didn’t want to be married to a corn
syrup salesman for the rest of her life.”

1) Where did Russ go? TeChOfWO rI d 2 I n

A) To buy Christmas gifts

B) To bring holiday decorations
C) For a business trip

D) For an advertisement shoot

2) What did Irene worry/thinking about?

A) Taking down the Christmas décor
B) Celebrating New Year alone

C) Working through the books

D) Russ' surprise work trips

3) What had Russ and Irene quarrel about?

A) Russ leaving Irene alone for New Year's
B) Irene's increased business trips

C) No Christmas decorations to put up

D) Writing fiction throughout the day
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4) Why did Irene not like Russ' business trips?

A) He did not take her along

B) She went alone to the mountains

C) He has many surprise business trips
D) She wanted to be with her family

5) What did Irene like to do?

A) Write fiction books
B) Read fiction books

C) Sell fiction books TeCh OfWO rI d & | n

D) Publish fiction books

6) Which of the following is a correct sentence with respect to use of words: pear or peer

A) My daughter likes to eat peer.

B) Peer pressure makes him buy expensive stuff sometimes even beyond his reach.
C) Pear to Pear communication is necessary for a good team work.
D) Peeris more expensive as compared to banana.

7) The phrase Jabber away means

A) to speak quickly in an excited way
B) to speak ill of somebody

C) to speak the truth

D) to speak very slowly in a simple way

8) Fill in the blank with correct prefix or suffix:

My sister and | have ___joining plots.

o0 w>»

) ad
) co
) up
yun
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9) Which of the following words is correctly spelt?

A) syncronous
B) synchronous

o Techofworld.In

10) The phrase "heap something up" means

A) to put something on a pile

B) to put something beside other things

C) to put something away from other things
D) to imagine something unfamiliar
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following statements indicate the effect of algal blooms on aquatic ecosystem?

A) The demand of oxygen in the lake decreases

B) The level of dissolved oxygen in lake increases
C) The amount of toxic chemicals in water increases
D) The population of microbes in the lake decreases

11) FINGYO @96y AuiQ 6066 FR1A AAA°YIER 68QIR ISR IRISY goiaaia ?

A) 2969 2qRIRQ PR @A

B) gasa Q190 ACRIRA 3R 98 ai

C) amea dais aiawde aalda adiaie 9F a

D) gasa 2ol 2RI e efian

Techofworld.In

12) Correctly match the List | with List Il. List | List Il

List | List Il
(a) J. C. Kumarappa (i) P. C. Mahalanobis
(b) The Second FYP (i) White revolution
(c) Verghese Kurien (iii) Agricultural centrism
(d) Chaudhary Charan Singh | (iv) Rural industrialisation

A) a-iii, b-iv, c-ii, d-i
B) a-iv, b-iii, c-i, d-ii
C) a-l, b-ii, c-iii, d-iv
D) a-iv, b-i, c-ii, d-iii
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Set |d : 62384 27 BATCH1_D.EL.Ed. Odia_10NOV2020

12) oidel | a@e oidql |l @ a0 691G ARIRYR! QSR 998T @ QI8

IR | QIR 11
(i) 8.9. aeReRIdq

(a) 62.4. gaieQl

(b) Ge1a vz gaa | (R Fge
(iii) @Feee

(c) aciea gave,

(d) eslye1 oo & (iv) Qi1a disiae

A) a-iii, b-iv, c-ii, d-i
B) a-iv, b-iii, c-i, d-ii

C) a-i, bii, ciii, d-iv TeChOfWO rld . I N

D) a-iv, b-i, c-ii, d-iii

13) The State Board of Teacher Education was set up for the first time by the recommendation of -

A) The Macaulay's Minutes

B) Indian Education Commission
C) Gokhale's Bill

D) The Kothari Commission

13) veIe gaitagsn gad ae aid aIey 88Q dl 691¢ S0R QAIAIRIAR -

A) AIRIR6RS ARG
B) f1ec1a 44l edeR
C) saIsi6ns 8R

D) s=i0id adiae

14) The Education Commission of 1917, was popularly known as

A) The Sadler Commission

B) The Hartog Report

C) The Mudaliar Commission

D) The Radhakrishnan Commission
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Set Id : 62384 27 BATCH1_D.ELEd. Odia_10NOV2020

14) e ¢eoq gl 26a16, 9@ RIFIEA s

A) AR 2lalo}

B) @166I6| dsaié

owee Techofworld.In

15) The three language formula was recommended for inclusion in the

A) National Policy of Education, 1986
B) National Policy of Education, 1992
C) National Policy of Education, 1968
D) National Policy of Education, 1958

15) g1eual g8 126a 2999 @GR! Al YAIGE FAIAIRYR

A) QIRIQ da 913, ecrs
B) Qig1a aa @16, e s
C) QAR S8l 16, e ¢or
D) Qg1 a1 218, e ¢sr
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) M is richer than N, P is richer than M, Q is richer than P and R is the richest of all. If they are
arranged from left to right in the increasing order of their richness, then who will be at the 4th position
from the left?

A) Q

on 1echofworld.In

D)N

16) M, N oig as1, P, M oig ais1, Q, P 01g u91 e R aage aanea aQoIQ 4191 1 9@ 6QA16e G1ea AR1R g6 I0Q IRIeg
QARG 223, 606 QUNQ 08 YRR &4 QB6R ?

A)Q
B) P
C)M
D)N

17) In a certain code language, if the word FINDING is coded as EJMEHOF, then how will the word
REPORTS be coded in that language?

A) EPQNTMZ
B) KZANKFA

C) QFOPQUR
D) QDMQNBA

17) ve 334 caie agiee, 9@ FINDING se EJMEHOF siesa 62i@ 62108, 666@ 632 aisisa REPORTS et @ ad
cle @A I 2

A) EPQNTMZ
B) KZANKFA

C) QFOPQUR
D) QDMQNBA

18) In the following questions, mark:
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1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

In which year was Tom born?
|. Tom is 25 years younger than his mother.

Il. Tom's sister who was born in 1974 is 35 years younger than her mother.

A) 1

B) 2

>« lechofworld.In
18) FANYC 9g9esa 636 @aq :

0. 26 Q4 | Qi RRQA 6e9Ig Q6aa 6T |
a6 994 |l vgdal anae ARQ caaIg A62a 26T |
a. 9@ YA | ve |l aaag 1eI0 F21de 6660 ANANIQ VAR 609! QI AUY 26E |

¥. 28 QR4 | v |l anag 910 Sa1de 6069 | 2NAQ AAQ 690! I AHg QeS|

64 od 67 9Q 62R8R ?

l. eq ol aRIe oIQ 98 o QIR |

Il. ene eea1 da e oy Adeee 8¢ 62QTEM 6Q 61 AIZIS 0IQ N @d AIR |

A) ¢
B) ¢
c)m
D) ¥

19) Tina is facing south. She first turns 135° anti clockwise and then turns 180° anticlockwise. In
which direction is she facing finally?
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A) South-west
B) South
C) South-east
D) West

19) &ql oFa zieq LIad | 6 gaen ens”’ QUAIQR siee e Qél ero® QITIRR aise 9aIN | 68860 64 604 ] gela aQ?

A) °8a-ada

0wew 1 €chofworld.In

D) @dn

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If the equation, x2 - 11x + p = 0 has integer roots, then how many integer values can 'p' take?
l.Lp>0

Il. Sum of the roots is 11.

A) 1
B) 2
o3 i
D) 4

20) YUY 999Fe6a 636 909 :
¢. 95 Q4 | anqiia AVA caaIg asaa 26T |

9. 2@ Y4 11 ¥gFal anaia AV 629Ig A62a AT |
q. 98 QA | ve* |l aeag QIO F2IGe 6069 ANANIQ ARA 62! QI AKIG 266 |

¥. 96 QR4 | ve || anog Q0 Sa1de cose | anaia AR soe! Al adug g6 |
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AQ ARed, X9 - eeX + p = 0 gdic 9@ a6e, 6062 '’ 6260 gdic AIR ceaalEa ?
l.p>0

Il. geaeaIcae 6208 e¢ |

A) ¢

o Techofworld.In

D)%
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) What was the goal of eclectic philosophy based education proposed by Mahatma Gandhi?

A) Fusion of realism, idealism, and pragmatism philosophy

B) Fusion of naturalism, idealism, and pragmatism philosophy
C) Fusion of naturalism, idealism, and realism philosophy

D) Fusion of naturalism, humanism, and pragmatism philosophy

21) aeiq GI91E QoI gAIF6 2Qla ode AR daia o @'a 291 ?

A) S18991Q, Q4RI 96 gadIQ Qe Age

B) 99696, 2I0deIe 1e* geRRIe @dea Age l h fW | d I

C) gIQdeel, ARIIR I QI @dea fgea e C O O r a n

D) 2199991, AIRQQIQ & gasIQ Qdea Aga

22) A teacher focus on keeping order in the classroom and places firm limits and control over the
students. Which of the following classroom management styles is she using?

A) Authoritative style
B) Authoritarian style

C) Permissive style
D) Submissive style

22) 966 AR G416 GER QAR UL FUB ¥ BIQAIRS AACQ QF AFAN I&° G086 aud| 6Q FRYE 6gaIge ARANR!
681 ARIQ 6RUT AR FQRS ?

A) RO 681
B) RIS 681
C) 2900 681
D) @41ge 681

23) The major barrier in Mid Day Meal scheme is

A) Lack of funds
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B) Lack of nutrition
C) Lack of publicity
D) lack of accountability

23) QIE 6RIFFER IS GO0 6298

A) ada 2RIQ

B) saigecqa 2Q1Q
C) golae 2a1Q

D) eeeQideq aie

24) Who stated that literacy is not the end of education, and not even the beginning?

A) Mahathma Gandhi
B) Swami Vivekanada
C) Sri Aurobindo

D) Rabindranath Tagore

24) 34 @225 6a AVRO! ATIQ 648 QEE, I QA AR 6L ?

A) LI Sl
oo Techofworld.In

D) QRIQRIE e

25) Which of the following laws does NOT come under the Thorndike's theory of learning?

A) Law of readiness
B) Law of effect

C) Law of exercise
D) Law of interest

25) GqRde Fangee AUQ 6R6S caIrFCIRR dYQia ARG ZUIRER 216Q QIF ?

A) 9969 faa
B) gaea faq
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C) QUi faa
D) 2ig2a 794

26) Which of the following statements describe classical conditioning accurately?
A)
B)
C)

In classical conditioning, the organism learns an association between two stimuli.
Classical conditioning usually deals with voluntary behaviors active in the environment

Classical conditioning involves applying reinforcement or punishment after a behavior.
D) Classical conditioning involves associating an voluntary response and a stimulus.

26) 39Rge MuQ 609 61 QAN 2EAFQ A0R NLER VLRI AR ?

A) Q390 @8a%°6q, 919 QT QAL ARIEA 1@ FAOR J6d!

B) @QeR @dad ARICEE OR6L96a AF4 Q1 6IRIYE GRS AR QIdy @dang
C) Q3R 2327 e UGG A6Q QLIRAE FAI @4 G6AIT @A 226 G0

D) 93°1R @827 12 63RIQE 9Ol 19 1@ 2A2Q 950 Q6Q

27) Teacher asks questions during the teaching learning process. She asks questions and rewards
the student who gives the right answer. This action is associated with

A) Conditioned response by Pavlov
B) Removal of error by Thorndike

C) Positive reinforcement by Skinner Te C h OfWO rI d . I n

D) Holistic view of Gestalt

27) dsieie glal aN06a 399 g9 9903 | 6a 99 aqes v A0R AN ceagel 2Ieg Qola §23 | 9@ eIty §
QR0 960 |

A) QIEQS QI QAR gogal

B) 27eIRes QoI g8 2aaee

C) 979 Q0 QIR 991004
D) 699I1QQ 621a8% Qay

28) Which of the following is an example of the computer-mediated communication in schools?

A) The teacher uses matchstick drawings to explain laws of motion
B) The teacher screens a movie on the projector to explain infinity
C) The teacher shares with the students a CD about French revolution
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D) The students chat with their e friends from abroad to share perspectives

28) GqQRYe ARIQ 6RUE FMIRACA AMIER ARINER AITICAITR IR ARIVAE ?

A) 96a faq Quiael aiel 99 QAR Q0 5 YeRIR a8
B) 2QiA6Ig QKIQ! QI FVQ 69I6RY6ER IR 0RFQ QT
C) @9ia1 §qe Saa6a 8@ IgAIRE A6 1@ A6 ra1via 96d

=)

2197168 FRQ 9T ra1QIa Gl Al F6246Q QI @ AFAIRS AR6 A @03

29) Which of the following associations encourage closer links between home and school?

A) TAT
B) PET
C) TPT
D) PTA

29) FARYS 694 LA0NE AA B FQIRA FRIEA FREER ALY 671AILS QRN ?

A) TAT

)
> Techofworld.In
)

D) PTA

30) The process of asking a question by rapidly listening to all answers far fetched, impractical or
impossible is referred to as

A) questioning

B) listening

C) brain storming

D) lecture cum discussion

30) 20 2eueede 4l 2eRe 203 RAAYSE o1g §8 9g oaden 1@ g0l ceed

A) 29 *de
B) 449l
C) 192 Age @39l
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 4R FIEA AR AR IRIRRNEA QLA AALYR VE6S?

A) e
B) ag
C) ad
D) 48

32) 21909 6 39Ae QAAG QO 694 QS MNIVAN FAIVINE ?

A) ‘@ruig
B) ‘QuQ
C) ‘ar g
D) ‘e’ a1g

33) ‘QIFT B ‘RIS’ /R F6ETE 6963 NITER FOS ?

A) ¥
B) g

o Techofworld.In

D)9

34) ‘aqigie’ aea dadeldealue 40 QI |

A) a6
B) 2ig1e
C) zeIae
D) 2Igae

35) ‘QA-QI+2 = QIAQ" - Y0IEQ QIAQ K€ YRITL?
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A) eaae
B) aig
C) goua
D) Qe@

36) AR8YER FRIQ 6L 2ARGI?

A) @41
B) 8¢

C) oo

D) 6dlcioQ

37) 6a+ae= ‘QI8Q" AR6Q AL ‘AR’ 9OID 694 U6Q QYIE 62108 ?

A) ®iQied
B) 2rioe adeq

oman | @Chofworld.In

D) s1@@I adea

38) ‘@dQ croina’ 9Fa 2d AQaa ea |l

A) Ue1e gull
B) @@ aQ!
C) @6 @
D) &al aIaal

39) ‘@04l gal 608’ Fa 28 Fqaa eal

A) 7% 6QI@ 26AIRY 624!
B) @ae gaia

C) queie @il

D) APNEQ TRAIN
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40) 39 F28gER MUQ SRTA 6aQ QU GRAIAR TV AL QEA QLS 62IRAN?
A) o1l

B) qiden

C) gatd

D) eioemd

41) ‘QaQ1ae’ 400 AAIIERIR 40 QI |

A) 6818
B) @@
C) 99
D) e8!

42) F6QI8 AR 62QT IR 652 QQ 9SIA TR 8R?

A) gdg
B) Qa1¢

oma | @Chofworld.In

D) aioe

43) ‘08Q’ 2dea ‘G’ goya 6QIN6R 906 a9Q QI |

A) axcul
B) aiddul
C) aecal

D) quadeal

44) GOGERI F1Q 96A AIF - CAIRE 09T @ 9Q?

A) Qa1 aQ

B) a1 Scaa4
C) a1 Ysa sy
D) 2qidel ol
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45) ‘cainie’ a9 eI aQ QIS |

A) a86g@

o= Tachofworld.In

C) zra
D) adge@
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 3(2x-1)- 10 =8 + 5x, then x =

A) 13
B) 17
C) 21
D) 25

46) 2@ 3(2x-1)-10 =8 + 5x 29, 6069 X =

A) 13
B) 17
C) 21
D) 25

47) What is the area of the parallelogram whose base and height are 10 cm and 5 cm respectively?

A) 50 sq. cm
B) 25 sq. cm

ossam | @Chofworld.In

D) 5sg.cm

~ o=

47) 9fi eo 6af 6 290! 8 627 389 ANIBAILR VTP 6REE 621 ?

A) 50 od sad
B) 25 ad eafi
C) 15 ad ead
D) 5 ed ead

48) A number which when divided by 4, 5 and 6 leaves a remainder 3, but when divided by 9 leaves
no remainder. Which of these is the required number?

A) 123
B) 93
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C) 63
D) 33

48) 9@ ey Q2@ 4, 5 e° 6 QoI 399 621a GEaa 3 BIFAN, @9 60606962 9 QIAI FAS LI NGEHA AR RAN | IFRIQ 6@LT
6208 QAR Py ?

A) 123
B) 93
C) 63
D) 33

49) The cost price of a computer is ¥ 20,000. A shopkeeper sold it for ¥ 23,000. What is the
percentage of profit that the shopkeeper makes?

A) 10%

B) 15%

C) 20%

D) 25%

49) 9@ asycea @2 a4 T 20,000 | esa seeiet v2ig T 23,000 6a 33 @621 621R101 2R AN J0RF 6260 ?

A) 10%
B) 15%

oxx | @chofworld.In

D) 25%

50) If 3x + 4y = 21 and 4x + 3y = 28, then what is the value of (x+y) ?

A) 4
B) 5
C)6
D)7

50) @@ 3x + 4y = 21 9er 4x + 3y = 28 29, 6669 (X+ y) @ AR 6Q6Q ?

A) 4
B)5
C)6
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D)7

51) In a cyclic quadilateral PQRS, PS is extended to a point T. If ZRST = 80°, then 2PQR =

A) 40°
B) 50°
C) 80°
D) 100°

51) PQRS ¢gedt ogdea, PS @ T 8 adie qf eaied | 0@ £RST = 80° g4, 666e£PQR =

A) 40°
B) 50°
C) 80°
D) 100°

52) Which is the largest four digit number, leaving a remainder zero when divided by each of the
numbers 15, 25, 36 and 407?

A) 9600
B) 9720

o= Techofworld.In

52) sed a0 26388 QLR eyl 15, 25, 36 ver 40 gsoie el QoI 399 626Q QIGEES g2 Q22N ?

A) 9600
B) 9720
C) 9360
D) 9000

53) A packet of clips is marked 30% above the cost price by a shopkeeper. He allows a discount of
20% on the marked price and sells those clips. What is the percentage of profit made by him?

A) 4%
B) 5%
C) 8%
D) 9%
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53) 49 @ 9@ QYeee RIS AR g0 30% 2R 8o c21ad | 62 30 gauea 20% GeIe G218 1 R Gagee 98 Qs |
OIg HRYQ AN FORC! 6260 ?

A) 4%
B) 5%
C) 8%
D) 9%

54) A school has 650 students.The ratio of number of boys to the number of girls is 2:3. This ratio
changes to 5:7 after the admission of 70 new students. What is the number of newly admitted boys?

A) 40
B) 42
C) 44
D) 46

54) e dQueaca 650 94 2i10 2831 QPRI el A6 AR Tuie 2QaIe 62a8 2: 3 | 70 Qor 218 RAAR A IR aQaIe
5: 7 60 08Q6@ 291 Q0% QIR 66 6208 QRRARS TH 660 ?

A) 40
B) 42
C) 44
D) 46

23 [ 39
55) If A and B are two sets and A' denotes the complement of set A, then A N (AUB)" =

A) A
B) B
C){}

D)A-B

55) @@ A ve* B 90 sae e A' 6Q8 A @ QJ6A14Q 900 @6Q , ses2 A N (AUB)' =

A) A
B) B
C){}
D)A-B
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56) Which is the largest 4 digit perfect square divisible by 15, 40 and 25?

A) 9,800
B) 9,600
C) 8,100
D) 3,600

56) 15, 40 we° 25 Qial 3aISe 620801 Q9920 4 28 338 Q4 od 6068 ?

A) 9,800
B) 9,600
C) 8,100
D) 3,600

57) What is the area of the triangle whose vertices are (-1,0), (5,4) and (2,-3)?

A) 4 sq. units
B) 8 sq. units
C) 9 sq. units
D) 15 sq. units

57) <@ 990 68009 6060 620 Qioia a1d 62ad (-1,0), (5,4) we (2, -3)? 4 / 36

/[ OY
A) 4 ad gde

B) 8 @d gd¢

C) 9 ad g@e

D) 15 ed gae

58) A cap seller sells white, black and orange coloured caps. He has these 3 coloured caps in the
ratio of 4:5:6 respectively. If he has 20 black caps, then the total number of caps with him is

oo0Ow>»

) 68
) 64
) 60
) 56
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58) 264 QuIa 36261 4RI, @RI I AR OTQ R4IA A @03 | 9IS TIGERA 1@ 3¢ aga u0 QaIRsn 4: 5: 6 agaIesa 23| 97 OIS
dIsieQ 20 ¢ el @uIa 28, 606e SIS UISIER g ageia ua ey 6208

A) 68
B) 64
C) 60
D) 56

59) In a class of 35 students, each student must study at least one of the two subjects - Mathematics

or Economics. If 17 students study Mathematics and 10 students study Mathematics but not
Economics, then how many students study only Economics?

A) 25
B) 18
C) 12
D)7

59) M8 94 21 6§6160, G66IQ BIQ 26 @AER Qaf dua SRR RAER, FIL auQ 6QIGNI adie dal 2de1d 6RIRIYQ AR |
A9 09 94 210 980 ZUAR A3 I R0 94 BIQ 980 AUAR RS 3] UIRIG 6L, 606 6REE BIQ 6RIR ALRE AUAR QOB ?

A) 25
B) 18
C) 12
D)7

60) A two digit numbers exceeds the sum of the squares of its digits by 14 and exceeds twice the
product of it's digits by 50. Which is the number?

A) 52
B) 62
C) 82
D) 92

60) @ Qeas A48 Ta 1R ASYERR FQ ANFQ 0¥ TR 29 YIS YRIQ ASA AYR0IQ 208 8o TR 241 666@ THYIT 660 ?

A) 52
B) 62
C) 82
D) 92
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) In which layer of Atmosphere the weather phenomenon like rainfall, fog and hailstorm usually
occur?

A) Mesosphere
B) Thermosphere
C) Stratosphere
D) Troposphere

61) @Igngea 6ad 3a6a QIdad ARG e8I G2 QEAIe, QL8 & QuITaR ZIF AIGEE Adald ?

A) sacaQaQ
B) 26£139Q
C) Y6513
D) g6aIZaQ

62) The meaning of which of the following oceans is "Peaceful"?

A) Indian Ocean

B) Pacific Ocean
C) Atlantic Ocean
D) Arctic Ocean

62) FIAYE NRIANRGRR FRIQ 62QTR 22 6208 “GIBgd” 2

A) 32 A21Q19Q

B) gaIs ALIQIea

C) 2IeRI8Q A21A9R
D) 21Q5Q ALIAITR

63) What is the term of Rajya Sabha?

A) 5 years

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

B) 6 years
C) 3 years
D) 2 years

63) QISIANQ ALY 6R60 6AR2AN ?

A) 3 Qd
B) » od
C)mad
D) s od

64) How many Mahajanapadas are mentioned in the Indian history that emerged during the Vedic
Age?

A) Fourteen

B) Fifteen

C) Sixteen

D) Seventeen

64) 650@ U6 QYR 62IRYQ! ALY AGLIAER 6R6S ARIFFAIQ QRN FAUAIRE?

A) 0@@
B) ara
C) ssiaq
D) aea

65) The term Acid Rain was coined in 1872 by

A) Walter Brogger

B) John Evelyn

C) Robert Angus Smith
D) Gene Likens

65) 2 adl 99 ero9 Adeiea IRIS QA AR FAIAIRYR

A) GR9 628199
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B) €7 1oQR
C) 69196 2Iga Ja
D) &% Qsaq

66) Earth Day is celebrated annually on

A) 22nd May
B) 22nd June
C) 22nd April
D) 22nd July

66) god QaIe1 ¥QQ AR *AIAIN

A) 22 a@
B) 22 g
C) 22 269
D) 22 gai

67) Which two separate Union Territories have become a single Territory since January 2020

A) Puduchery and Goa

B) Dadra and Nagar Haveli and Daman and Diu
C) Dadra and Nagar Haveli and Puducherry

D) Telangana and Andhra Pradesh

67) @IgaIa1 9090 0IQ 629 20F ARG 62248136 2ree A8 6aIG9ea 0860 61083

A) 26991 e 6q12

B) Qi@ 4& @aQ 2160@ I&° QAR e 69
C) 912l 4&* 26 QUQR 9 geeeal

D) 696R6TRI 96" ARYERE

68) What happens in the event of resignation or death of the PM?

A) The ministry gets dissolved
B) Fresh election takes place within one month

~ _ _AA_fAn
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DAILMT D.ELEQ. Vaid TUNUVZUZU

C) The cabinet chooses another leader
D) The President decides over the ruling

68) QuIRNRIE Q8T A 16y VCAIER @€ 4 ?

A) 186194 QEIAIN

B) 9@ AIQ AU6Q QR REISR ACAIRE 9
C) MIR6RS U 964 6261 QI3

D) 21996 1@ 796 aaea 740 6°aad

69) The days and nights stay approximately of the same length all year round on the
A) Poles

B) Tropics

C) Equator

D) Antarctic

69) edaial 1@0i6a @7 ¥ QIS 91 AAIL A ARAN

A) 651Q
B) QBRI

C) 3gQ 6l
D) areiace

70) Who was known as the 'Mother of Indian Revolutionaries'?

A) Sarojini Naidu
B) Madame Cama
C) Usha Mehta

D) Annie Besant

70) ‘aeeia 89e1ea AIOI’ RILER @9 98de ?

A) Q6RIRA1 ARG
B) ML QAN

C) @8l 6716261

D) 2?6923
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71) Which king was given the title 'Napoleon of India' as per historians?

A) Chandragupta Maurya
B) Samudragupta

C) Harshavardhana

D) Ashoka

71) 902Qes 2QQI01 60 AIFIF 'VUAGA FICAIRAR’ A F2ATN?

A) 9899 6edY
B) aqeqg

C) edieae

D) 26481@

72) The Ministry of Environment and Forests was renamed as The Ministry of Environment, Forest
and Climate Change in

A) Jan-06

B) May-14

C) Jun-14

D) Jun-06

72) 98624 6 a2 A24IR0Q 98694, PR IS 2217 AGeER AREILAR FINRAE IR ANA6R RN

A) QIQIA1 - 0
B) a@ - &%
C)ge- e¥
D) ga - o9

73) The Ninth Schedule was introduced in the Constitution during the Prime Ministership of

A) JawaharLal Nehru
B) Lal Bahadur Shastri
C) Indira Gandhi

D) Manmohan Singh
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73) 8 QuIRARIS AAAER QAIRER 9N GO 96 QAIAINR

A) SR0AIN 67629
B) AR QIRIQ &Iat
C) QERQ G

D) Arsqieq &e

74) A certain place on the Earth has a latitude of 37°47' S and longitude of 144°58' E. This place is
located in which country?

A) Japan
B) China
C) India

D) Australia

74) gaeia ¥e 708 giea aara 37°47' S e aidal 144°58' E 2661 9@ gieG 604 60860 2030 ?

A) QIR

B) o

C) Qe
D) 2egmall

75) What was the objective of the Cripps Mission?

A) To prevent the launch of Quit India Movement

B) To convince the Congress ministers to withdraw their resignations

C) To persuade the Indian leaders to support the British war efforts
D) To set up a constitution making body

75) 32 daea afge @'a gQI ?

A) 9196 8IC 2RI QIR Al

B) @692 A81AIRG 6ANIRE Q3T gYIRIR ARIQ ARSI Al

C) @64 g8 gaIaq 9nde *AQIQ ANSIA 6RVININE ARIAR I
D) @ Qe G218 gl 90% @8 aldl
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following product will be formed when ethyne is treated with Cu at 600 °C?

A) Cyclooctane

B) 1,2,5,7-Cyclooctatetraene
C) Benzene

D) Cyclobutene

76) sa60626@ asaaq Cu @26 600°C sa 4eeie @aIAN SR QQIQ AUQ 6966 006 62 ?

A) ARERERR

B) ¢,9,8,9-QAIGCQREEER
C) 6eR6%

D) QQ6RI966R

77) What is the unit of 'a' in the van der Waal's equation?

A) L mol!

B) atm™' L mol?
C) atm L2 mol
D) atm L? mol?

77) Q419 609 QIR ANRREER ‘A" Q 10 @'€ ?

A) L mol

B) atm™' L mol2
C) atm L2 mol
D) atm L? mol?

78) Which scientist's surname is used as unit of work and energy?

A) Charles-Augustin de Coulomb
B) James Prescott Joule
C) Michael Faraday
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D) Max Planck

78) 624 63FRIFRT QARIF QMY G2l 43Q I9R TIN ULS 29 ?

A) Q16RQ 29Z.] 62 9a9
B) 66q 699 @4 g2

C) qI06aa TIR16e

D) aig Qi&

79) High biological oxygen demand in a water body means

A) water is not polluted

B) water is polluted

C) water contains lot of life forms
D) water contains only plants

79) 90 SR YR 6FAR ARINQ ARARIQ 2

A) 9% 9986 q6¢

B) &% 9986 62108

C) 996Q U6RR R1AR UQE @GaN
D) #26a 6a9® 28< a1

80) In which of the following flower the gynoecium occupies the highest position while the other parts
are situated below it?

A) perigynous

B) hypogynous

C) epigynous

D) gamosepalous

80) F6qIe R AUQ 6RUE6R T6RIAGAN ATYR YR AYLIR FAYLICLER UM ragPe IRl 069 2QFe ?
A) 698829

B) 2R6ARYQ

C) 1afeq
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81) Which of the given reactions can only remove water hardness temporarily?

A) CaClz2 + Na2CO3 — CaCOs3 + 2NaCl

B) Ca(HCOs)2 — CaCOs + CO2 + H20

C) MgCl2 + Na2CO3 — MgCOs + 2NaCl

D) 2CaClz + Nas(POs)s — Na2Caz(POs)s + 4NaCl

81) Gruigingel gERAIgER FRIQ 64T 6299 99a @0R0IQ ANIR AILER AAARE RFAIFR ?

A) CaCl2 + Na2CO3 — CaCOs3 + 2NaCl

B) Ca(HCO3)2 — CaCOs3 + CO2 + H20

C) MgCl2 + Na2CO3 — MgCOs3 + 2NaCl

D) 2CaClz + Nas(PO4)s — NazCaz(POa)s + 4NaCl

82) What possible reason can be given for liquids failing to have any definite shapes?

A) Strong intermolecular forces able to hold them in fixed positions
B) Low kinetic energy unable to hold them in fixed positions

C) Strong kinetic energy able to hold them in fixed positions

D) Weak intermolecular forces unable to hold them in fixed positions

P

82) cae aeida 6F16Q 7G4 210 R62I60 604 AAINY QI0E FUIAIRAIER ?

A) AN GLOQEAICRAIPAIN I8 6T Fo O6Q QYRIER QTN 6RANAN
B) 7 00® a3 6anIeg Ja Josa agRlca 2N cIqal

C) S94IM GOR 499 6A0Ieg o o6 aglca ATA Q2N

D) 299 reasnisaiaia 43 canieq e 386a ayisa aand

83) Read the following question and choose the CORRECT option from the following.
A drawn bow possesses mechanical energy in the form of elastic

1. Potential energy

2. Kinetic energy

A) option 1 only
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B) option 2 only
C) both option 1 and 2
D) neither option 1 and 2

83) Aq16Q Q2IAIRNYQ GG AL 9° 0] FRE QIS :
SEIAIRRQ! IR UG LIRS 63 GIY 62102, ¥T QUea oI

1

@)

o 9

)

2.96@ 49

&)

A) 6e9% el

B) 6aeq 328 2

C) 00 398 1 99° 2

D) 1 3qI 264163 38 g2

84) Which of the following prepared from Trebbiano and has a dark brown appearance?

A
B
C
D

Apple Cider Vinegar
Balsamic Vinegar
White vinegar

Cane Vinegar

84) GqRiee MUQ 6Q4TS 69RFUCHIQ GO IS® IRIA AIP AN O ORF ?

A) 219R ARG f6RaIq
B) @Iqidie Sispaiq

C) ue! feraiq

D) e G6Raiq

85) The pigment responsible for trapping of light energy essential for photosynthesis are found in

A) Amyloplast
B) Aleuroplast
C) Chloroplast
D) Elaioplast
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85) zicaIe 6486 AR AGMILAIR 2IRRI 490 SIGF AR Qa1 8l dasere vdea Adan

A) gfenge
B) u6Reaiqa
C) sqleaiqia
(p) RELLL

86) In the following characters, EXCEPT one character, remaining characters appear in xerophytes,
the character is

A) Presence of thick cuticle
B) Presence of sunken stomata
C) Presence of hypodermis
D) Presence of aerenchyma

86) FqRge edgdesa, caItN o4 2689, 2938 AFAYER CLEAITINGER CRHIAN, 94F c2ad

A) sael R @age
B) 26G% 68IAI1Q @agO

C) 2iesaefian aage Te C h OfWO rI d s I n

D) dseroiania aage

87) What will be the relationship of molecular weights M1 to M2 between gases 1 and 2 if their rates
of diffusion is 40 and 20 L/s respectively?

A) M1 = 4M2
B) M2 = 4M;
C) M2 = 2M1
D) M1 = 2M2

87) quia 1 9e* 2 ariea adgaie 6ee M1 @ M2 @ and @'@ 629, 0@ canieca daia 21a aa1gen 40 ver 20 L/s seipad ?

A) M1 = 4M2
B) M2 = 4M;
C) M2 = 2M;
D) My = 2M2
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88) Which of the following forces are conservative forces?

A) Gravitational force, electrostatic force and elastic force
B) Gravitational force, frictional force and elastic force

C) Electrostatic force, frictional force and magnetic force
D) Electrostatic force, frictional force and gravitational force

88) F6QI8 AUQ 62AT ARG AR 266 ?

A) a21edd QR , 38 AQIQ AR , AGIR °F

B) aeiede of add of 30R10R OF

C) 30 8q4Q QR AIRdE 9@ 9948 QR 9AN1A R
D) §a 3g4Q 9@, 284 99, A12Iedd

89) The process by which a double-stranded DNA molecule is copied to produce two identical DNA
molecules is called

A) Translation

B) Transcription TeC h OfWO rI d " I n
C) Replication

D) Splicing

89) ¢af anie DNA 2g 2qies @89l ai e geal Qial 2aga 384 DNA 2¢g e @qian o19ig
QRIAN |

A) 29919
B) gosase
C) aem

D) deiee

90) Glycocalyx is a type of

A) centrioles

B) vacuole

C) cell coat

D) cell membrane
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90) qecRIRIRY 6208 9@ 9RIR

s | echofwor

C) 629 6§
D) 69@ 67698
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’ Question Paper No:

‘ 62384 27

Answer Key

TechoﬁNoﬂdIn

1€ A 61 |D

2|D 32 D 62| B

3/A 33D 63 | B

4|C 34| B 64 | C

5/B 351A 65| C

6|B 36| D 66 | C

71A 37D 67 | B

8| A 38| C 68 | A

9]B 39|1A 69 | C
10| B 40 | B 70 | B
11 | € 41 |D 71 | B
12D 42| C 72 | B
13|{D 43 | A 73| A
14 | A 44 | B 74 | D
15| C 45| D 75|C
16 | A 46 | C 76 | C
17| C 47 | A 73 1D
18 | C 48 | C 78 | B
19| A 49 | B 79| B
201 A 50D 80 | B
21| B 31|C 81 | B
22 (B 52|D 82 (D
23 | A 533|A 83 | A
24 | A 54| A 84 | B
25| D 55 |C 8 |C
26| A 56 | D 86 | D
27| € 57| D 87 |B
28| D 58 C 88 | A
29| D 59|B 89 |C
30| C 60 | C 9 | C
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